






































Test window to
determine depth
of cut




Only the outer bark
must be cut. just ine
green part, not the

woodv ‘vellow part)





































Cut was not
through the bark,
no callous was
formed.




Very badly done,
phloem should not be
entirely destroyed.






















5x2 Orchard, in the
third year.




Pruning cuts should be
done between 1 and 1.5
meters







4 yr-old orchard, at 5X3







6 yr-old orchard at 5 x3 m

























5 yr-old orchard, at
5x2 m, after pruning.













Marked branch
identified for
later pruning













3 months after
pruning, if the cut is
sufficiently
illuminated, a
growth response
should be seen
















Flowers are only produced
high in the canopy, making it
difficult to prune without
greatly reducing yields.




Badly done autumn

pruning, as too much

productive material
was lost.


































Age D'Sfteaert‘ce 2004 | 2005 | 2006 | 2007 | 2008 | 2009 | 2010 | 2011




Distance
feet 2008 2009 2010 2011

7,5 37,2 12,0 20,0

9,3 23,1 15,5 18,0




























